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I. ROXZEBDEEUIRE L, (51R91] ® [KBr91)
@ [#HA89] x?+4x-12 2x2y+6xy?
x2-—10x+9 =(x+6)(x—-2) =2 xy(x+3y)
=(x—-1)(x-9)
® [E1191] @ [Zk91])
@ [FE=89] x?2-2x-8 ax’+5ax+6a
x?2-14x+24 =(x—4)(x+2) =a(x?+5x+6)
—(x—2)(x—12) = a(x +2)(x +3)
@ [(E2M91)
® [FIz89] a’-2a-15 (f8fg91]
x?—-6x+9 =(a—5)a+3) x2-12+4«x
=(x —3)? =x?+4x—-12
© (3591 —(x+6)(x—2)
@ [BAEFFt=89) 3a’b-6ab—-9b
x2-3x-10 =3bla?—2a-3) @ [KBR89]
—(x+2)(x—5) =3 b(a-3)a+1) (a+b)2—4
a+b=X&EHEL
® [Z2fg - #0IRL89] (t&8H91] (5x)=Xx°-27
x?-5x-24 ax’—5ax+6a =(X+2)(X-2)
=(x+3)(x—8) =a(x?-5x+6) =(a+b+2)a+b-2)
= a(x - 2)(x - 3)
® [&3F89] (FL/E89]
x2—-x—-6 (ZR#B91] (x—3)2—-x-17
=(x+2)(x-3) 3x?-18+3«x (—EERELTHS
=3x2+3x—-18 RN R D75E]
@ (BRERFRLZFE89] =3(x%+x-6) (5=0)
9a2-1 =3(x+3)(x—-2) =x?—-6x+9—-x—-17
=(3a)’-1 =x2-7x—-8
—(3a+1)3a-1) @ [B5091] =(x+1)(x - 8)
a’+25b2-10 ab (HIBEXIENADDHT D5E]
[F#E89] =a’—-10ab+25b°? (53)

x?2—-12x+36
=(x —6)?

© [S1R89]
x?—x—-12
=(x+3)(x—4)

© [%89]
x?+2xy—x
=x(x+2y-—-1)

@ [ZR#F89)
3x%2+412x-36
=3(x?+4x—-12)
=3(x+6)(x—2)

@ [FE89]
ab’+6 ab+8a
=a(b?+6b+8)
=a(b+2)(b+4)

® [{£&E89]
ax’—16a
=a(x?—-16)
=a(x+4)(x—-4)

=(a — 5 b)(a — 5 b)
=(a — 5 b)?

I. ROXZREREDERELUREUY,
@ [ERE89]
x?°—4x-12
=(x—6)(x+2)

@ [EtfEXMIZES9]
x2+4x-5
=(x+5)(x—-1)

® [ LF#289]
3a’-6a—-144
=3(a’-2a-48)
=3(a—-8)a+6)

@ [=&=91])
ax — by — ay + bx
= ax — ay + bx — by
=a(x —y)+ b(x — y)
=(x — y)(a + b)

® [RE91)
2x°-10x-12
=2(x?>-5x-6)
=2(x—-6)x+1)

=(x—-3)2—-x+3-3-17

=(x—3)2—(x—-3)-20
CZTCT.x—-3=A&8KL

(5X)=A4°-A-20
=(A-5)A+4)
=(x—3-5)(x—-3+4)
=(x—-8)x+1)

@ [#r589)
(x—2)°-2x+4
(CADSHAR]
BR)=x-2)2-2(x-2)
=(x—-2)(x—2-2)
=(x—-2)(x—-4)
(—EREM U THh SRS R]

(5R)=x2-4x+4-2x+4

=x’-6x+8
=(x—-2)(x—4)

@ [FkFEE89]
x(a —b)—a+b

a—b=A&BL
(5x)=x(a — b)—(a — b)
=xA—-A
=A(x—1)
=(a-b)(x—-1)



@ [ERIEXRFMHEIZ%S89]
(x —3)2+2(3 - x)
x—3=A4 &BL

(5R)=(x - 3)2—2(x — 3)

=A’-2A

= A(A - 2)
=(x—-3)(x—-3-2)
=(x—-3)(x—-5)

(B AXFEEF89]
ala +2)+1
=a’+2a+1
=(a +1)?

® [FE93]
(x+3)*-4
x+3=A4 &L
(5x)=4°-4
=(A+2)A-2)
=(x+3+2)(x+3-2)
=(x+5)(x+1)

@® [##==)1193]
(x+2)’-4x-38
x+2=A &8&<

B)=(x+2)?-4(x+2)

=A?-4 A
=A(A-4)
=(x+2)(x+2-4)
=(x+2)(x-2)

@ [1&[93]
O(x—-y)—x+y
x—y=A &BL

(BR)=9kx-y)—-(x—y)

=9A4-A4
=8 A)
=8(x —y)
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@ [FE91])
(x+3)(2x—-1)—x(x+7)
=2x?—-x+6x—-3-x2-7x
=x?-2x-3
=(x—-3)x+1)

@ [#=)1191]
(x+4)(x—-4)—-x+4
(MADHAER]
x—4=A &BL

(5X)=(x+4)A- A

—A(x+4-1)
=(x—4)(x+3)
(OCADHAR]

(53)
=(x+4)(x—-4)-(x—4)
=(x—-4)(x+4-1)
=(x—4)(x+3)

@ [ZI93]
ax’+2ax+ a
=a(x’+2x+1)
=al(x+1)?

© [B¥5593]
2a’-50
=2(a?—-25)
=2(a+5)a-5)

@ [#pA93]
x?2—-2x-15
=(x—5)(x+3)

M. ROWRZEEEDFRUIREON,
@ [FHER93]
25a2-16b2
=(5a+4b)(5a-4b)

@ [F#ME93]
(x+1)’+4x+4
x+1=A &BL

(BX)=(x+1)2+4(x+1)

=A’+4 A

A(A +4)

=s(x+1)(x+1+4)

=(x+1)x+5)

® [=1493]
x2+4x-12
=(x+6)x-2)

@ [=1593])
x?’-3x-4
=(x—4)(x+1)

(—ERER U CTREDEE)

(5R)=x2-16-x+4
=x?—-x-12
=(x—4)x+3)

® [REAB9]
(x+2)°2+3(x+2)—-18
(MhADHHER]
x+2=A&HL
(5x)=A°+3A-18
=(A+6)A-3)
(x+2+6)(x+2-3)
=(x+8)(x-1)
(—EEMT D5E]
(5%)
=x2+4x+4+3 x+6-18
=x2+7x-—8
=(x+8)(x-1)

® [24093]
a’—4(3-a)
=a’-12+4a
=a?+4a-12
=(a+6)a—-2)
® [=&E93]
x?+2x—-48
=(x+8)(x—6)
@ [E4g893]
x?+7x-30

=(x+10)(x-3)

® [RE93]
x?—10x+16
=(x—-8)(x—-2)

© [1&H93]
3a’+3a-6
=3(a’+a-—-2)
=3(a+2)a-1)

(F#893]
x2+ xy
=x(x +y)

@ [EI593)
x2—-9y?
=(x+3y)(x—-3y)

@ [£[E93)
x(x—2)—(2 - x)
=x(x—-2)+(—-2+ x)

=x(x—-2)+(x—-2)
=(x—-2)(x+1)

(Bl —ERRELTHS]
(5X)=x2-2x-2+x
=x’—-x-2

=(x—2)(x+1)
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@ [LEAXKMI=E89]
(a — b)?°-5(a—0b)—14
a—b=X&EHBL
(5RX)=X-5X-14
=(X+2)(X-7)
=(a-b+2)a—-b-7)
® [BPRAE89]
(x—1)2+4(x—-1)-12
(MADHHER])
x—-1=A&BL
(5R)=A2+4A4-12
=(A+6)A-2)
=(x—-1+6)(x—-1-2)
=(x+5)(x-3)
(—EERTID5E]
(530)
=x2-2x+1+4x—-4-12
=x2+2x-15
=(x+5)(x-3)



® [EFEEZS9]
(x=3)?-5@x-y)—-24
x—y=A&EPHL

(5x8)=A4°>-54-24
=(A+3)(A-8)
=(x—-y+3)x—-y—-8)

@ [R#B93]
(x—1)2+4(x—-1)—-12
x—1=A4&8<L

(5R)=A°+4A4-12
=(A+6)A-2)
=(x—-14+6)(x—-1-2)
=(x+5)(x—-3)

(IB93]
(x—3)?+(x—y)—6
x—y=A&BL

(5RX)=A’+A4-6
=(A+3)A-2)
=(x—y+3)(x—-y—-2)

© [E*093]
(a—b)2—-2a+2b-3
a—-b=A&EBL

(5%)

=(a—b)’—2(a—b)-3

=A°-2A-3
=(A-3)A4+1)
=(a—b—-3)a—-b+1)

(&F)1193]
(x—3)2+2(x—-3)—-15
x—3=A&PHL
(5x)=A4°+2A4-15
=(A+5)A-3)
=(x—3+5)(x—-3-3)
=(x+2)(x—6)

@ [(&)1193]

(a—2)°+3(a—-2)—-10
a—-2=A&HBL

(5x)=4°+34-10
=(A+5)A-2)
=(a—2+5)(a-2-2)
=(a +3)(a—-4)

@ [#R)IIKH=89]
(x2+5x)°+10(x?+5x)+2 4
x’+5x=A4 &BL

(5EXX)=A4°+10A+24
=(A+4)A+6)
=(x?+5x+4)(x?+5x+6)
=(x+1)(x+4)(x+2)(x+3)

@ [EAFFEE89]
(x?2-2x)>-2(x%°—-2x)-3
x?-2x=A &BL

(5)=4°-2A-3
=(A+1)A-3)
=(x?2-2x+1)(x2-2 x —3)

=(x—1)*(x+1)(x-3)

@ [BXE=m=89]
(a—1)2—a+1
(MADHHER]
a—-1=X &BKL
EBR)=X’-X
=X(X°’-1)
S X(X+1)(X-1)
=(a—1)(a-1+1)(a-1-1)
=(a — 1)a(a — 2)
=a(a —1)(a—-2)
(—EERUTH SR #E]
(530)
=(a—-1)a—-1)?—-a+1
=(a-1)(a?-2a+1)—a+1
=a’*-2a’+t+a—-a’*+2a
-1 —a+1
=a3-3a?+2a
=a(a’—-3a+2)
=a(a—1)a—-2)

® [+1£=89]
(x?+2x—-5)2—(x2-7)2

x’+2x—-5=A x?-7=8B

EBFEE

(5)=A4A2-B?

=(A + B)(A — B)

=(x?+2x—-5+x2-7)
X(x?+2x-5-x2+7)

=(2x2+2x-12)(2x+2)

=2(x?+x—-6)x2(x+1)

=4(x+3)(x—-2)(x+1)

@ [Rkip=89]
x’°+3ax+12x+36a
=x°4+(3a+12)x+36a
=(x+3a)(x+12)

@ [(R)ZFESFE89]

(a —b)+9b2%(b—a)
=a?(a—b)—9b?(a—->b)
=(a—-b)(a?-9b?)
=(a — b)(a + 3 b)(a — 3 b)

® [FREJAAFS9]

(ax + b)?+(bx — a)?

=a?x?2+2abx+b?
+b?x?—2abx+a?

=a?x?+b?x?+a’+b?

=x2(a?+b2)+(a?+b?2)

=(a?+b?)(x2+1)

® [(f£EH89]
(x—y)(x—-—y—-5)-6
x—y=4A &8
(5x)=4(A-5)-6
=A2-5A-6
=(A-6)A+1)
=(x—-y—-6)x—-y+1)

@ [m)I=89]
(a+b-1)2+(a+b)-3
a+b=X &BL
(58)=(X-1)2+X-3
=X2?-2X+1+X-3
X2-X-2
X+1)(X-2)
=(a+b+1)a+b-2)

I. ROXZELEDFELIRSUN,
@ [EZEkE89])
x?+4xy+4y2—22
=(x+2y)2—2z2
=(x+2y+z)(x+2y—-2)

@ [(BAE=89]
x?+ax+a-1
=x’—-14+ax+a
=(x+1)(x—-1)+a(x+1)
=(x+1)(x—-1+a)

Q [EERFHAMEZF=89]
x’—x+y—y?
=x?-y?—-x+y
=(x+y)(x—y)—(x—y)
=(x—-y)(x+y-1)

@ [EEAMES89]
x?+2xy+y?’—4
=(x+y)?*-4
=s(x+y+2)x+y—2)

® [BY¢=89]
x3_x2y_xy2+y3
=x*(x—y)—y*(x—y)
=(x—-y)(x?*—y?)

(x —y)(x +y)(x —y)

=(x + y)(x —y)?

® [FEEHRIF=89]
4 x(x+y)+y?
=4x’+4xy+y?
=(2x)’2+2yx2x+y?
=(2x+y)?

@ (BfHEEER=EFEF89])
plp+1)—q(q—-1)
=p’+p-q’+q
=p’-q’+p+gq
=+ -g)+(p+ q)
=p+q)p-qg+1)

(ZIRZF589])
2x%2y—-16xy+32y
=2y(x?2-8x+16)
=2y(x—-4)?



O [FRHEHAARESFFFH89] ((BF=89]
x?+3xy+2y°+y-1 x2-6x—-4y2+9
=x2+2xy+y?+xy+y?+y-—-1 =x?-6x+9-4y?

=(x+y)*+ y(x + y) +y-1 =(x—3)2-(2y)?
T x+y=4A &BL =(x—-3-2y)(x—-3+2y)
(BN)=A°+yA+y—-1 (BB AE=89)

=(A+y-1)(A+1)
{x+y)+y—-13 {(x+y)+1}

x’+4y?-4xy-1
=x’-4xy+4y?-1

;(x+y+y—1)(x+y+1) =(x—-2y)2-1
=(x+2y—-1)(x+y+1) =(x—-2y+1)(x—-2y-1)
© [(BARF==89]

M. ROXZRLDEELUIRSU,

@ [(MFZFAMBEEREZFE89]
(x—1)(2x%?-4x+1)-(x—1)(x?+x—-5)
=(x—1){(2x2-4x+1)—(x2+x—-5)}
=(x—-1)(2x?-4x+1—-x2—-x+5)

x?+y’—ax— 2 xy+ ay
=x?-2xy+y’—ax+ ay
=(x - )~ a(x - y)
=(x - y)(x -y~ a)

@ (FEFkR=89])

x?2—-2y?+xy+6x+3y+9
=x?+6x+9+xy+3y—-2y?
=(x+3)°—y(x+3)—-2y?
CZT x+3=A &BL
(5x)=A4A-yA-2y?2
=(A-2y)(A+Y)
=(x+3-2y)(x+3+y)

@ (RBEFEZFE89]

x?+y?+2yz-2xz-2xy
=x?-2xy+y?-2xz+2yz
=(x—-y)?=-22z(x—-Y)
=(x—y)x—-y—-22)

@ [BEAAAMIEAA=89]
4(x?—x—-2)+x%(x—2)
=4(x—-2)(x+ 1)+ x2(x—-2)
=(x—-2){4(x+1)+x2}
=(x—-2)(x?*+4x+4)
=(x—2)(x+2)?

(RRI %589
(x=—y+1)°=(x-y)—3
x—y=A4 &HBL

(5ER)=(4+1)2—A-3

=A’+2A+1-A-3
=A’+A-2
=(A-1)A+2)
=(x-—y-1)(x—-y+2)
® [Z5—IL589]
abx?+ ax — 2 bx — 2

=ax(bx+1)—2(bx+ 1)
=(bx+ 1)(ax — 2)
(RlIfE(FAEEZZ X T))

(5X)=abx?-2 bx+ ax — 2
= bx(ax — 2)+(ax — 2)
=(ax —2)(bx + 1)

(BfE=89]
x2y?-—x2-y2+1
=x’(y?-1)-(?*-1)
=(y7-1)?- 1)
=(y+1)y—-1)(x+1)(x—-1)

@ [RREARE—=89]

a’—a’b—-—ab?+ b3
=a?(a—b)—b?(a—0b)
—(a - b)(a2=b?)
=(a — b)(a + b)(a — b)
= (a + b)(a — b)?

=(x—1)(x?-5x+6)
=(x—1)(x—2)x—-3)
@ [BRnEZEAKRS89]

(x?2+3x—-2)(x%2+3x+4)-16

x2+3x=A4A &BL

(BR)=(4-2)(A+4)-16

=A°+2A-8-16

=A’+2A-24

=(A+6)A-4)

=(x2+3x+6)(x%2+3x—-4)

=(x24+3x+6)(x+4)(x—-1)
® [(MFZFAMEEMEGXZFE89]
5 3 1

- S x+

x 2 2

=(x—1)|::x—%i:l

@ [hRAFZAFH89)

x2+2x+%

27 4
3 :' | *+ 3|'

{
= I||x+ ]

® [DEBASE 1589])

8 8
2_ S -
2 x 3ac+ 9

® [ZHIAZE89]

1 5
3x 2x+3

= %(x2—6x+9)

= 5 (x-3)°



